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Ο πίνακας δεν είναι στην 1η κανονική μορφή γιατί υπάρχουν κενά και επαναλήψεις. 
3η Κανονικη Μορφή 
 
Visits(VisitNo, VisitDate, ProvNo) 
Diagnosis(VisitNo, PatNo, Diagnosis) 
Patients(PatNo, PatAge, PatCity) 
Speciality(ProvNo, ProvSpecialty ) 
 
Visits 
VisiiNo VisitDate ProvNo 

V10020 13/01/2022 D1 
V10021 13/01/2022 D2 
V93030 25/05/2023 D2 
V82110 17/10/2022 D3 
V45481 17/10/2023 D7 
V45482 15/11/2023 D2 

 
Diagnosis 
VisitNo PatNo Diagnosis 
V10020 P1 INFECTION 
V10021 P1 INFLUENZA 
V93030 P3 PREGNANCY 
V82110 P2 MURMUR 
V45481 P4 TOOTH SEALING 
V45482 P3 INFECTION 

 
Patients 
PatNo PatAge PatCity 

P1 35 DENVER 

P2 60 BOULDER 
P3 17 ENGLEWOOD 

P4 45 LONDON 

 
Speciality 
ProvNo ProvSpecialty 
D1 INTERNIST 
D2 NURSE 
D3 CARDIOLOGIST 
D7 DENTIST 

 


